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General Instructions:.
1. All questions are compulsory.
2. All answers should be written in the question paper itself.

Qns
l.

1.

2.

SECTION A: OBJECTIVE

NAME THE FOLLOWING:

Name any two types of scanners. :

The significant change from hand-made goods to machine-made goods which
began in Britain in the 18™ century.

He discovered the method called Pasteurisation to kill germs in
milk.

FILL IN THE BLANKS:

The discovery of helped humans progress faster.

magnifies a tiny object and makes it look much larger.

was the first fuel used in steam engines to produce steam.

MATCH THE FOLLOWING BY CHOOSING THE CORRECT OPTIONS:

A B ANSWERS

1. The first person to make a small battery
which could produce an electric current in | a. Hydroelectricity | 1.
awire.

2. | can take pictures inside a person’s body. | ph. Alessandro Voltal 2.

3. The force of flowing water of rivers used to
generate electricity.

c. X-ray 3.
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IV. IDENTIFY THE FOLLOWING AND FILL IN THE BLANK: 1x1=1

| am used to examine your chest and back when you are ill.

SECTION B: SUBJECTIVE

V. ANSWER THE FOLLOWING QUESTIONS:
1. What can the doctors see with the help of scanners? 1
Ans
2. Why we should not use Coal as a source of energy? 1
Ans
3. What is known as Hydro-Electricity? 1
Ans
4, What do you know about the Clinical thermometer? 1
Ans
5. Why does the doctor examine your chest and back with a Stethoscope? 2
Ans
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6. What is meant by Industrial Revolution that began in Britain in the 18" century? 2
Ans

7. What caused the increase in the demand of goods leading to the beginning of the 2
Factory System?
Ans

End of the question paper.
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